EARAROBEEIERT — 2 N— IBISH —F

20135671680 (H) 3EIFZ6H

SR N

5

CES)

[($57E] Fikb

‘ [Rfg] 2 ‘ [FEERR] — | Z (&) 1600M =

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = FlBEX :39. — . . KPIIETE (35#)
15l 7 VE=—2307 o2 Il 1(3_9)7 1312 | 34.9| 78.1 | 1 (432) A
T4 =142 B:UZ—F v X b AT N ¢
. - # 2 | ERE 1:39.7 8-7 35.6| 77.7 | 6 444 | BEHEL (EH)
o3|V T1>71=v72 54.0 (7¢) o | e
RZAZHNTIZy 7R B:ov1>TLTv— fints it
= S 4 o2 | WHEEE 1:39.8 11-9 35.5| 76.8 | 2 472 | BERFOME (SE)
so| 71T 54.0 3/4) (o) |kt
X ThANAN B:oz)—b J—H T — L
=9 i 4 2 | C. V1 UTL 1:40.2 5-3 36.3]72.0 | 3 450 | BAIE (E3H)
4 6 T/ /NJO%E .0 (2 1/2) (=) P=E 5
RV RYTYZAIR B:9AL €T 14— HE R
P N . IS 1:40. 10— 9l 717 | 4 452 | BWFEEL (=)
5/5|8|F>74d—IEF g 54.0 (70533 oo |89 (i) $ARA—
LAFAT—IE BNYTF4T A —8l
. 4 2 | AERH 1:40.3 7-7 3.2 71.6 | 8 506 | LRz (i)
o h-t-ATz 64.0 757) o | B
RANRTNYR B:RF—TH IR A
s 2 | IHRSB 1:40.5 2-2 36.8| 67.1 | 13 | 434 |EEZEX (F#)
ZH 9 SAFRX /) — 54.0 (1 1/4) (=) DR —
Zond Bii—-vry EREBEBE
$,h8 2 s 2 | BiElE 1:40. 14-14 | 35.6| 69.0 | 9 438 | KRS ()
817112 2720120 N il NN 54.0 (7€) (—) |FEE
L:trs/n7Ooq4 BiAUYy RE—X HE Em
5 4 2 | SeEAA 1:40.6 5-5 36.6| 67.3 | 7 404 | WS (XH)
E=4 M%7z )F 54.0 7€) (—) | B 45TLyRI5T 5747
X THANXN B:T71)T7—FK 2 =7 FHis
PN N kP SEHER 41, - . . E25B— (ER)
ol T7roLxzy L2 e 1(441)3 1-12 | 36.5| 62.0 | 10 (412) E%BWE
RN—IFNTy a1 BiATrES ML * 1Rl
o B o2 | EEET 1:41.9 1-1 38.3| 51.8 | 11 470 | FEEX (EH)
111814 f~ rJ)OaE> 54.0 (31/2) (=) #H) IVT7—L
R:ZyY—b—O— BiH—FELNY— LA 9514577 — 1
: 4t 2 | HEL#EL 1:42.1 8-9 37.8|51.0 | 5 512 | BSEl (E#)
EE 2| ANV X7 54.0 ) o |mEEA
:77%¥% B:AVRKRZRFS tE BE
= . B 2 | BOBEA 1:42.8 3-3 38.9| 44.8 | 14 | 408 |FERMME (i)
13/8]13| 77 A bEAXNU — 54.0 @ (=) |A=W3T95T
LA L hNTr—Ib B:TN=—TI547 [ Z LN
LS s 2 | REHEX 1:43.1 3-5 39.1| 42.6 | 12 | 416 |UBEE (%)
Eﬂ 5 97]\)[//1)[/ 54.0 (1 3/4) ) KA
LY RKYTYXIR BILYIIL HIR=HHS
@ 21 L
£y 49.7-36.1
NO>a24 L | 13.2-11.2-12.2-13.4-13.6-11.9-11.8-12.4
® I—F—@EBIERL
13—7-
23—7F—
3T—7— 14-9(5,13) (4,6)11(2,3)8(1,10)7,12
Mal=5r= (x14,9) (13,6) (5,4) (3,11) (2,8,10)-(1,7)12
[ N5
B Op 7 1809 794K 3-7 520M & 3-5 820M &R 3-7-10 1,150
% B 7 120 7-10 1700 | | BB & 3-7 1,440 | | 3:&E 7-3-10 5,650/
3 260/ 3-10 720M B H 7-3 1,710
10 130M9

ABICOVWTRDTEEERROODE. TR LIV,




